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Topic break down

Topic

No. of Questions

Topic 1: Describe the capabilities of a
Cisco Data Center solution

13

Topic 2: Describe the business value of
a Cisco Data Center solution

12

Topic 3: Analyze customer business 9
requirements

Topic 4: Recommend the appropriate |8
Cisco Data Center Network solution

and advanced services

Topic 5: Understand the competitive 8

positioning of Cisco Data Center
solutions
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Topic 1, Describe the capabilities of a Cisco Data Center solution

Question No : 1 - (Topic 1)

Which statement regarding siloed applications is accurate?

A. Overprovisioning siloed resources is a cost-effective way to anticipate growth.

B. Committing siloed resources to a specific application allows for high utilization.

C. The process of deallocating and reallocating siloed resources can be more costly than
purchasing new equipment.

D. Redeploying siloed resources raises capital expenditure (CapEx) but reduces
operational expenditure (OpEX).

Answer: C

Question No : 2 - (Topic 1)

You are interested in lowering your total cost of ownership for your small-scale SAN and
data center edge applications. Which device would be the best to use in this scenario?

A. Cisco Nexus 1000V
B. Cisco MDS 9124
C. Cisco GSS 4492
D. Cisco Catalyst 6500

Answer: B

Question No : 3 - (Topic 1)

Which statement about full-width blades is true?

A. Up to eight full-width blades may fit into a single Cisco UCS 5100 enclosure.

B. Full-width blades feature a pair of Intel Xenon processors.

C. Full-width blades feature four times as many dual-port adapters as half-width blades.
D. Full-width blades feature four times as many DIMM slots as half-width blades.

Answer: D

Question No : 4 - (Topic 1)
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What are blade switches?

A. end-of-row switches

B. top-of-rack switches

C. modules that fit into MDS switches

D. modules that fit into blade server chassis

Answer: D

Question No : 5 - (Topic 1)

What advantage does Cisco Catalyst 6500 Virtual Switching System (VSS) capability offer?

A. A Catalyst 6500 Series Switch can be deployed as either a top-of-rack or end-of-row
device.

B. A Catalyst 6500 Series Switch can operate at both the aggregation and core layers.
C. A pair of Catalyst 6500 Series Switches can operate as a single logical switch.

D. A pair of Catalyst 6500 Series Switches can combine resources to provide twice as
much bandwidth.

Answer: C

Question No : 6 - (Topic 1)

What is meant by data center virtualization?

A. the use of a unified fabric to greatly reduce the amount of cable runs

B. the deployment of devices that can operate as top-of-rack and end-of-row devices at the
same time

C. the consolidation of physical resources and deployment as logical devices

D. the replacement of physical hardware with virtual machines

Answer: C

Question No : 7 - (Topic 1)

How does the Cisco ACE XML gateway improve server performance?

A. by blocking XML traffic to the server
B. by offloading XML functions from the server
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